Mixture Post Test Activity: Answer Key
1. Homogeneous
2. Heterogeneous

3. Heterogeneous
4. Homogeneous 
5. Homogeneous

6. Heterogeneous 

**The formation of CO2 bubbles keeps the mixture from having the same chemical makeup throughout the entire volume. However, CO2 is soluble under pressure, so before the soda is opened, the mixture is homogeneous.**
7. Heterogeneous 
8. Homogeneous
9. Homogeneous
10. Heterogeneous
Trick Question: Neither. Chocolate Milk would be classified as a colloid. A colloid is an intermediate step between homogeneous and heterogeneous. The mixture will look flush and homogeneous but if you let the chocolate milk sit then the chocolate will fall to the bottom and the mixture will now look heterogeneous.
